

PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 7/6/2025 8:31:17 PM

			General De	tails				
Parcel ID:	400-0010-0	4600						
Document:	Abstract - 0	1342989						
Document Date:	10/17/2018							
		Leg	gal Descriptio	on Details				
Plat Name:	INDUSTRI	AL.						
Secti	on	Township	R	ange	L	ot	Block	
27		51		17		-	-	
Description:	SE 1/4 OF	NE 1/4						
			Taxpayer De	etails				
Faxpayer Name	BERG DAN	IEL L						
and Address:	5009 INDEF	PENDENCE RD						
	SAGINAW I	MN 55779						
			Owner Det	aile				
Owner Name	ASHFORD	RACHEL G	Owner Det	a115				
			able 2025 Tax	Summary				
	2025 - 1	Net Tax		\$1,251.00				
	2025 - 5	Special Assessme	Assessments			\$85.00		
		•						
	2025 -	Total Tax &	Special Asses	ssments	\$1,336.0	00		
		Currer	nt Tax Due (as	s of 7/5/2025	5)			
	Due May 15		Due October 15			Total Due		
2025 - 1st Half Tax \$668.0		00 2025 - 21	2025 - 2nd Half Tax \$66			2025 - 1st Half Tax Due \$0		
2025 - 1st Half	Tax Paid \$668.	00 2025 - 21	2025 - 2nd Half Tax Paid		\$0.00 2025 -	2nd Half Tax Due	\$668.00	
		_					\$668.00	
2025 - 1st Half	Due \$0.	00 2025 - 2	- 2nd Half Due \$668.00		68.00 2025 ·	2025 - Total Due		
			Parcel Det	ails				
Property Addres	s: 5009 INDEF	PENDENCE RD, S	SAGINAW MN					
School District:	2142							
Tax Increment D								
Property/Homes	teader: BERG, DAN							
			nt Details (20	-	•			
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
	1 - Owner Homestead	\$54,900	\$134,900	\$189,800	\$0	\$0	-	
	(100.00% total)	+ - ,	+ - ,	+,	• -	· ·		
111 (0 - Non Homestead	\$26,600	\$0	\$26,600	\$0	\$0	-	
	Total:	\$81,500	\$134,900	\$216,400	\$0	\$0	1869	



PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 7/6/2025 8:31:17 PM

				Land D					
_				Land De	etalls				
	led Acres:	40.00							
Wate	erfront:	-							
Wate	er Front Feet:	0.00							
Wate	er Code & Desc:	W - DRILLED WELL							
Gas	Code & Desc:	-							
Sewe	er Code & Desc:	S - ON-SITE SANITA	ARY SYST	EM					
_ot V	Width:	0.00							
_ot [Depth:	0.00							
The o	dimensions shown are not contract the structure of the st	ot guaranteed to be surve gov/webPlatsIframe/frmF	ey quality. /	Additional lot Up.aspx. If th	information can be here are any quest	e found at ions, please email <mark>PropertyT</mark>	ax@stlouiscountymn.gov		
			Improve	ement 1 D	etails (HOUSE	E)			
h	mprovement Type	Year Built	Main Fl	oor Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Desc		
	HOUSE	1938	68	0	680	U Quality / 0 Ft ²	1S - 1 STORY		
ſ	Segment	Story	Width	Length	Area	Foundat	ion		
	BAS	1	8	10	80	FOUNDAT	TION		
	BAS	1	20	30	600	BASEME	-		
	CW	1	4	5	20	BASEME			
	DK	1	12	14	168	POST ON G			
L	Bath Count	Bedroom Count		Room C		Fireplace Count	HVAC		
	1.0 BATH	1 BEDROOM		-	ount	•	&AIR_COND, PROPANE		
	1.0 DATT								
	_		-		tails (DET GA	•			
Improvement Type		Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
Г	GARAGE	E 2013 1,280			1,280	-	DETACHED		
	Segment	Story	Width Length		Area	Foundat	ation		
	BAS	1	32	40	1,280	-			
			mprovei	nent 3 De	tails (PB 32X5	6)			
Ir	mprovement Type	Year Built	Main Fl		Gross Area Ft ²	, Basement Finish	Style Code & Desc		
	POLE BUILDING	0	1,7	92	1,792	-	-		
ſ	Segment	Story	Width	Length	Area	Foundat	ion		
	BAS	1	32	 56	1,792	POST ON G	-		
L			-		,				
			•		ils (BARN 36)	•			
II	mprovement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc		
ſ	BARN	0	2,4		2,832	-	-		
	Segment	Story	Width	Length	Area	Foundat			
	BAS	1	10	20	200	FLOATING			
	BAS	1	16	72	1,152	FLOATING			
BAS		1	20	20	400	POST ON G	ROUND		
	BAS 1.5		20	36	720	POST ON G	ROUND		
		Im	provem	ent 5 Deta	ails (W SH 16X	(30)			
	Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Desc.								
lı	mprovement Type								
		0	48	0	480	-	-		
		0 Story	48 Width	0 Length	480 Area	- Foundat	- ion		



PROPERTY DETAILS REPORT





Date of Report: 7/6/2025 8:31:17 PM

		Improvei	ment 6 Details	(ST 12X16)					
Improvement Typ	e Year Built	Main Flo	oor Ft ² Gross	s Area Ft ²	Basement Finish	Style	Code & Desc		
STORAGE BUILDING 0		19	2	192	-		-		
Segme	nt Story	Width	Length	Area		Foundation			
BAS 1		12	16	192	POST ON	GROUND			
		Improvei	ment 7 Details	(ST 20X22)					
Improvement Typ	e Year Built	Main Flo	oor Ft ² Gross	s Area Ft ²	Basement Finish	Style	Code & Desc		
STORAGE BUILDIN		44	0	440	-		-		
Segment Story			0		Foundation				
BAS	BAS 1		22	440	POST ON	POST ON GROUND			
		Improv	ement 8 Detai	ils (8X20)					
Improvement Typ	e Year Built	Main Flo	oor Ft ² Gross	s Area Ft ²	Basement Finish	Style	Code & Desc		
STORAGE BUILDIN	IG 0	16	0	160	-		-		
Segme	•		Length	h Area	Foundation				
BAS	1	8	20	160	POST ON	POST ON GROUND			
	5	ales Reported	to the St. Lou	is County Au	ditor				
Sal	le Date		Purchase Price	•	CF	RV Number			
11	/2017	\$150,800 (\$150,800 (This is part of a multi parcel sale.)			224556			
10)/2005		\$165,000			168402			
		A	ssessment His	story					
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacit		
	201	\$54,900	\$130,500	\$185,40		\$0	-		
2024 Payable 2025	111	\$26,600	\$0	\$26,600) \$0	\$0	-		
	Total	\$81,500	\$130,500	\$212,00	0 \$0	\$0	1,821.00		
	201	\$47,500	\$118,900	\$166,40	0 \$0	\$0	-		
2023 Payable 2024	111	\$22,400	\$0	\$22,400) \$0	\$0	-		
	Total	\$69,900	\$118,900	\$188,80	0 \$0	\$0	1,665.00		
	201	\$35,800	\$138,300	\$174,10	0 \$0	\$0	-		
2022 Payable 2023	111	\$19,300	\$0	\$19,300		\$0	-		
	Total	\$55,100	\$138,300	\$193,40	0 \$0	\$0	1,718.00		
	201	\$35,800	\$120,000	\$155,80		\$0	-		
2021 Payable 2022	111	\$19,300	\$0	\$19,300) \$0	\$0	-		
	Total	\$55,100	\$120,000	\$175,10	0 \$0	\$0	1,519.00		
		1	Fax Detail Hist	ory					
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Lar	Taxable Bu nd MV MV		otal Taxable M		
2024	\$1,367.00	\$85.00	\$1,452.00	\$63,54	5 \$102,99	91	\$166,536		
2023	\$1,507.00	\$85.00	\$1,592.00	\$50,664	4 \$121,16	65	5 \$171,829		
2022	\$1,471.00	\$85.00	\$1,556.00	\$49,76	5 \$102,1 <i>1</i>	17	\$151,882		







Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.